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&
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@ sin 90° = cos 90° = tan 90°
@ sin 30° = cos 60° = tan 45°
® sin90° = cos 0° = tan 90°

@sin 90° 4 cos 90° + tan 45° = 2

®)cos 0° + tan 0° = sin 90°
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@ sin90° = 1,cos90° = 0, tan 90° = AT o FUr}.
1 1
@ sin30° = 7.cos60° = o tand5® = 1 OJH2 sin30° =

cos 60° # tan 45°

@ sin90° = 1,cos0° = 1, tan 90° = ASF 4= gith

@ sin90° = 1,c0890° = 0,tan45° =1 0|22 1+ 0+ 1 =2
® cos0° =1,tan0° = 0,sin90° = 1 | B2 14+ 0 =1
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®)8cm ® 10cm

gk of tigt AF7Fe] 7]+ 90° ©] B2 /ACB = 90°
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B= =16
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w2kA AB = 16( cm) O[22 §H2] 591 AO = 8cm
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Sin an 2 3 6
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AH 16
AH =

= tan(90 01% 60 °) + tan(QO 30 o)

t 30° t 600
anlﬁ + tan 0
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~BD=1-cosx=1-0.6821 = 0.3179

AO =1, cosx = 2 = = 0.6821
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AP oA OC = 0.59 & o, CD <] 2
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53° 0.80 0.60 1.33
54° 0.81 0.59 1.38
55° 0.82 0.57 1.43
56° 0.83 0.56 1.48
@ 0.57 @ 1.38 @ 0.59 @ 0.82 (@)0.81
oC O0OC —
cosx’°==—=—,0C =059 o|2&2
oD 1
x°=254°
sin54° = 2 _u 0.81 o]|B.&
-~ CD =0.81
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AH = 8cos60° =4

BH = CH = 8sin60° = 4V3
AC=AH-+CH=4+43
watA] AABC 9] Hol=

% X 8 X (4+4\/§) X sin60° =
24 4+ 83 o|t}.




14.

@D 40V11 @ 40V13
@ 4017 (@)40\@

® 40V15

~&B

BH = 200 X sin 60°
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@® 32 @ 36 ® 52
@ 10V3 @10«/6

~&B

PT’ =PA-PB o|=& PA o] Zo|= x & 5HH
x(x+10) =96

x2 +10x-96 =0

(x—6)(x+16) =0

x=6( x>0)

webA] AATB 9 Hol

ABPT — AAPT = % X 16 X 4 V6 x sin 30°

—%x6x4\/€xsin30°

=16V6 - 66
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